Corrigé calculs divers

Exercicel
2
1) ¢- 2x+1— =(- 2x)2- 2(2x)8§9+8ég =4x2- 2x+E
e 2g 4
2) -(2-XX\/§+X): -(\/5+x\/§-x\/§-x2):x2-x 2+x/3
3) (3x+5)(3x- 5)- (2x+2) = (3x)2- B2- [(2%)2+2(2x)(2) + 22| =9x2 - 25- 4x2- 8x- 4
= 5x2- 8x- 29
2) [2x+7f - (x+47)x- VT)= 23+ 45T +7- 3047 =32+ 4/Tx+14
e 16 _1_, 16 1. 1_ 8 35 1023

2
5) Séx-Sg - CX+ -+ =X2- —X+64- X2- ZX- —=-—X2- —X+—F—
e3 g & 4g 9 3 2 16 9 6 16

Exercice 2

1) 5 +1_ 5X l(x 5 _5X+Xx-5_ 6x-5
X-5 x (x- 5)x X(x-5) x(x-5  x(x-5)
3+8x 2 _(3+8X)(5) +2(3- 8x) _15+40x+6- 16x _ 24x+21
3- 8x 8x 5 5(3- 8x) 5(3- 8x) 5(3 8X)
3) 1 + 3 :1(x-5)+3(x- 2):x-5+3x-6: 4x- 11
X-2 X-5 (x- 2)(x- 5) (x- 2)(x-5) (x-2)(x-5)

5 X _1:5(x-3)- x(2x-5)-1(2x-5)(x-3):5x-15-2x2+5x-2x2+6x+5x-15

2x-5 x-3 (2x- 5)(x- 3) (2x- 5)(x- 3
_ - 4x2+21x- 30
~(2x- 5)(x- 3)
2x-1 §+5: (2x- Dx- 3(x- Y +5x(x- 1 _ 2X%- X- 3Xx+3+5x?- 5X _ 7X?- 9X+3
Xx-1 X X(x- 1) X(x- 1) X(x- 1)

2)

4)

5)



